Uddevalla BF
Simultan 2021-10-28

Partavling, 9 bord, 17 par. Antal brickor: 24. Medel: 167.9. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 1 202.9 60.39  Anders Dellien - Lennart Johansson 7117 13145  Tjorns BK
2 11 193.1 57.47 Rune Karlsson - Gun Séarborn 59576 32054  Uddevalla BF
3 2 188.7 56.17  Majsan Agren - Anna Ek 61575 59578  Uddevalla BF
4 5 183.3 5455  Pontus Kjellberg - Birgitta Andersson 39883 27123  Uddevalla BF
5 15 180.0 53.57 Gisela Lindstrom - Lisbeth Johnsson 31843 92688 Uddevalla BF
6 4 179.0 53.27 Kent Johansson - Ann-Christin Johansson 3908 46161  Uddevalla BF
7 12 175.0 52.08 Mikael Skén - Ake Andersson 92692 91475  Uddevalla BF
8 3 169.0 50.30 Birgitta Morck - Ingrid Adamsson 42826 42829  Uddevalla BF
8 9 169.0 50.30  Vilhelm Holm - Jan Dellve 91474 92586  Uddevalla BF
10 8 166.0 49.40  Elisabeth Brattberg - Anna Jarup 61569 3902 Uddevalla BF
11 14 162.5 48.38 Irma Karlsson - Hakan Nystrand 13187 31846  Uddevalla BF
12 7 161.5 48.05  A-C Conradsson - Lars Conradsson 92677 92676  Uddevalla BF
13 16 160.4 47.73 Inger Karlsson - Aina Andreasson 3604 87005  Uddevalla BF
14 13 152.7 45.45 Marianne Eriksson - Britta Andersson 10769 48464  Uddevalla BF
15 17 141.8 42.21 Liv Andersson - Inga-Lill Thordén 4831 84177  Uddevalla BF
15 18 141.8 4221  Sonja Bjorklund - Per Ake Sand 43058 43057  Uddevalla BF
17 10 127.6 37.99  Arne Lago - Bjorn Mork 38186 38185  Uddevalla BF
1 #1043 2 « E984 3 & Kn642
Nord v D862 Ost v K102 Syd v73
Ingen +8 NS ¢ 107 ov ¢ 7654
#EKNn752 &»E764 D106
4 KKn65 487 4D 4 K1072 4 EK1097 &D5
v 1054 v Kn973 v EKn9 v75 v D6 v KKn10942
492 + Kn76543 46532 + EKn84 ¢+ E102 + K9
#KD98 %4 #Kn10985 #K32 #Kn43 *752
« ED92 4 Kn653 483
vEK v D8643 v E85
¢ EKD10 + KD9 + DKn83
#1063 &D #EK98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 17 3NS+3 «8 490 140 00|15 2 34 N= *3 140 140 00|16 7 44 V-3 .7 300 140 0.0
12 11 3NS+1 &K 430 11.0 3.0 7 3 INN+1 ¢4 120 120 20| 8 4 4v0O-1 &K 100 120 2.0
13 1 3NS+1 v5 430 110 3.0 9 17 2& V-2 a4 100 100 40| 1 12 3¢ S-2 aA -100  10.0 4.0
14 8 44 S= 2 420 80 6.0/10 5 2¢0-1 v4 50 8.0 6.0/10 17 14 V+1 *Q -110 70 7.0
7 3 3NS= *Q 400 6.0 8.0|12 11 Pass 50 9.0|18 5 24 V= *6 -110 70 7.0
10 5 4vS-1 +9 -50 4.0 10.0|14 8 Pass 50 9.0(13 2 INO+1 48 -120 3.0 11.0
15 2 44 S-2 2 -100 20 12013 1 3¢ O= *Q -110 20 12.0|15 3 INO+1 ¢3 -120 3.0 11.0
18 4 64 S-3 *Q -150 0.0 14.0|18 4 INN-2 a2 -200 0.0 140 9 14 2NV +2 ¢4 -180 0.0 14.0
- 16 6.7| - 16 67|11 - 8.0
4 « EKKNn106 5 & KKn843 6 & Kn
Vast vED6 Nord v 10875 Ost v 642
Alla +Kn NS ¢+ Kn764 ov ¢ EDKn42
#8743 &»- #KD102
4983 a- 4902 475 4 K106 498432
vKn432 vK10975 vEK32 vDKn9 vEDKn83 vK5
+ K96 +D108753 ¢ EKD 48532 ¢+75 4963
#1096 &DKn #E642 #D1097 #873 #EKn5
& D7542 « ED106 4 ED75
v8 v64 v 1097
¢ E42 + 109 + K108
#»EK52 #KKn853 #964
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
1 12 64 N= «Q 1430 140 0.0(14 10 4v V-3 +6 150 140 00| 4 15 2v V-2 4] 200 13.0 1.0
9 14 54 N+1 v9 680 11.0 3.0(16 8 34 S= * K 140 120 20|12 7 2v V-2 4] 200 13.0 1.0
13 2 44 N+2 v7 680 110 30| 2 1 3NV-1 a4 50 70 7.0| 9 5 3¢ N= 48 110 9.0 5.0
8 4 4e N+1 o7 650 50 9.0| 4 15 2NV-1 a4 50 70 7.0|17 11 3¢ N= vK 110 9.0 5.0
10 17 44 N+1 o7 650 50 9.0| 9 5 3NV-1 43 50 70 7.0|13 3 2¢ N= 49 90 4.0 10.0
15 3 44 N+1 & 650 50 9.0|13 3 3NV-1 43 50 70 7.0|14 10 2¢ N= v5 90 4.0 10.0
16 7 464 N+1 o7 650 50 9.0|17 11 24 S- ¢A -300 20 12.0|16 8 2¢ N= vK 90 4.0 10.0
18 5 64 N-1 & -100 0.0 14012 7 3NO= »8 -400 0.0 140| 2 1 3¢ N-2 vK -100 0.0 14.0
1 - 8.0 - 18 59| - 18 5.9
7 &« K7 8 « D10654 9 « E10742
Syd v K943 Vast vED4 Nord v KKn
Alla ¢E4 Ingen + D102 ov 4743
&»EK653 #53 &#KKn10
4Kn9862 «E a2 & EK73 4 DKn98 &K5
vD1082 v EKn65 vKn9632 v K105 v 652 vE743
410872 ¢ KDKn96 ¢ KKn8743 +¢5 ¢ Kn108 ¢ EKD962
»- »D98 &»E #K9762 #753 *6
4« D10543 « Kn98 463
v7 v 87 v D1098
+53 ¢ E96 +5
#Kn10742 #DKn1084 #ED9842
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
17 12 4v O-1 *] 100 140 00| 7 18 3NO-4 *Q 200 13.0 10|18 8 5¢DO-3 43 800 140 0.0
15 5 4a&N-1 & A -100 120 20|13 4 3NO-4 LY 200 13.0 1.0(17 1 3vV-3 & A 300 120 2.0
1 8 3¢ O+2 &T -150 70 70| 1 8 2NO-3 LN 150 80 6.0|11 7 44S= +J 130 10.0 4.0
7 18 3¢ O+2 w7 -150 70 70| 3 2 3NO-3 *] 150 8.0 6.0|14 12 24 N= ¢A 110 8.0 6.0
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14 11 2¢ O+3 43 -150 70 7.0|14 11 3NO-3 &4 150 80 6.0 2 9 24 N-2 *A -100 50 9.0
16 9 3¢ O+2 v7 -150 70 7.0|15 5 3NO-2 aJ 100 40 10.0|13 5 3v S-2 *T -100 50 9.0
13 4 2NO+3 v7 -210 2.0 12.0|17 12 3¢ V= «5 -110 20 120| 4 3 3¢ 0= 46 -110 2.0 12.0
3 2 3NN-3 +Q -300 0.0 140(16 9 2vV+1 &5 -140 0.0 14.0(10 16 4¢ O= A -130 0.0 140
10 - 5.3 10 - 5.3 15 - 7.5
10 « EK9 11 443 12 46
Ost v D1073 Syd v 83 Vast v D7632
Alla +97 Ingen ¢ EKn65 NS + D10762
#9542 #Kn8543 &E4
« DKn10 487653 4 EK 4 Kn109862 « EKD5 4 Kn108743
v E96 v 842 v EKKn109542 v6 v EKn85 v9
¢+ DKn1065 ¢ E43 * K7 ¢ D42 ¢- + EKn983
£106 &Kn8 &E D109 #DKn1062 &K
442 « D75 492
v KKn5 v D7 v K104
+ K82 410983 + K54
&#EKD73 »K762 #98753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 9 3NS+2 *+Q 660 140 00| 2 17 4y V+2 L X} -480 10.0 4.0 2 17 44 O+2 a2 -480 9.0 5.0
11 7 4v N= A 620 120 20| 3 10 4y V+2 +5 -480 10.0 4.0| 3 10 44 O+2 &5 -480 9.0 5.0
18 8 2N S+3 ] 210 100 40| 5 4 4v V+2 »8 -480 100 40| 5 4 44 O+2 49 -480 9.0 5.0
10 16 2# S +3 *+Q 150 60 80|12 8 4v V+2 *A -480 100 4.0(12 8 44 O+2 49 -480 9.0 5.0
13 5 24 S+3 aJ 150 6.0 80|14 1 5vV+1 &5 -480 10.0 4.0(15 7 44 O+2 &8 -480 9.0 5.0
14 12 2# S +3 +Q 150 6.0 80|15 7 6vO= *2 -980 20 12.0|16 11 44 O+2 49 -480 9.0 5.0
4 3 2NS= *J 120 20 12.0|16 11 6v V= v3 -980 20 12.0|18 9 44 V+3 v4 -510 20 120
17 1 3NS-1 *J -100 0.0 140(18 9 6v V= A -980 20 120|114 1 64 0= &9 -980 0.0 140
15 - 7.5 13 - 6.4 13 - 6.4
13 4 865 14 4 862 15 « KDKn763
Nord v EKn54 Ost v EK62 Syd v8
Alla ¢ Kn875 Ingen +75 NS + D98
&52 £K983 &E92
4 KKn104 4973 «DKn75 4104 «10 495
v 82 v 1063 vDKn4  v1093 v1032 v EKKn64
+ ED10 + 432 ¢ E63 + KKn1084 476432 ¢ Knl0
#KD93 #E874 &#DKn2 #1074 #K875 #Knl064
«ED2 « EK93 « E842
v KD97 v 875 v D975
+ K96 + D92 ¢ EK5
#Kn1l06 &E65 D3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
18 10 INS+2 a4 150 140 00| 1 9 1v N+2 ¢4 140 140 00|11 18 64 N= vA 1430 140 0.0
7 13 INS= a4 90 110 3.0 4 11 INN+1 *4 120 9.0 50| 2 10 44 N+2 &5 680 11.0 3.0
17 3 INS= *Q 90 110 30|15 8 2NS= +6 120 9.0 50| 8 13 44 S+2 &5 680 11.0 3.0
15 8 240= vQ -90 80 6.0|17 3 2NS= +6 120 90 50| 5 12 44 S+1 &7 650 4.0 10.0
1 9 INS-1 &3 -100 40 10.0(18 10 2NS= vJ 120 90 50|14 3 44 N+1 vK 650 4.0 10.0
14 2 INS-1 ] -100 40 100(| 7 13 24 S-1 +3 -50 20 12015 9 44 N+1 vA 650 4.0 10.0
16 12 INS-1 aT -100 40 100(14 2 2¢v N-1 *J -50 20 12016 1 44 S+1 v2 650 4.0 10.0
4 11 2 0+1 vQ -110 0.0 14.0(16 12 INN-1 T -50 20 12.0|17 4 44 S+1 vT 650 4.0 10.0
- 5 76 - 5 76| 7 - 6.7
16 « EKKN952 17 4873 18 46
Vast v 532 Nord v KKn652 Ost vE3
oV +53 Ingen ¢ Kn54 NS ¢ KKn94
&ED £D6 £Kn87643
a4 4 D876 4Knl02 «KD964 « ED85432 & Kn97
v KDKn vE10974 vE1083 vD9 v DKn4 v K95
+ KKn876 ¢ ED102 +D 762 .- + E1087
#9762 »- #E8754 #Knl02 &EK2 D109
103 «E5 4« K10
v 86 v74 v 108762
+94 + EK10983 + D6532
#KKn108543 K93 &5
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 9 34 N-1 vA -50 14.0 0.0|15 10 2¢ S+2 aJ 130 140 00| 4 14 44 V+1 vA -450 130 1.0
2 10 34 N-2 vA -100 120 2.0| 3 11 3¢ S= aJ 110 100 40| 8 7 44 V+1 vA -450 130 1.0
14 3 44 N-3 vA -150 100 4.0( 4 14 2¢ S+1 *4 110 100 4.0(13 9 44 V+2 vA -480 6.0 8.0
8 13 3¢ V+3 &K -170 80 6.0|/16 2 3¢ S= A 110 10.0 4.0|15 10 44 V+2 vA -480 6.0 8.0
5 12 49y O = aT -620 60 80|13 9 340- v4 50 60 80|16 2 44 V+2 vA -480 6.0 8.0
11 18 4y O+1 T -650 4.0 10.0|17 5 4 S-2 aT -100 40 10017 5 44 V+2 vA -480 6.0 8.0
16 1 49y O+2 T -680 10 130 8 7 24 O+1 +K -140 1.0 13.0(18 12 4a V+2 *4 -480 6.0 8.0
17 4 4vy O+2 o7 -680 1.0 13.0|18 12 34 O= A -140 1.0 13.0| 3 11 64 V= vA -980 0.0 14.0
7 - 6.7 -1 85 - 1 8.5
19 « Kng4 20 1097 21 4« K1093
Syd v E9865 Vast v KD8542 Nord v 108
(6)) + K9 Alla + 8762 NS + ED3
&DKn5 &- £EKN96
aK732 46 & Kn42 & EK53 4EKN85 &7
vD v Knl1072 v Kn103 vE6 vE7 v KDKn643
¢ ED10 8432 ¢ 103 494 ¢+ KKn6 410872
#E9742 #K1063 &#EKD102 #Kn7653 #10874 #KD
« ED1095 « D86 « D642
v K43 v97 v 952
¢ Kn765 + EKDKnN5 ¢ 954
&8 £984 £532
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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5 14 2¢vDN+1 46 570 140 00| 7 2 340-3 ¢A 300 130 10| 8 3 3vO= 3 -140 140 0.0
11 15 14 S+1  vQ 110 110 3.0|13 10 44 O-3 *A 300 13.0 10|10 9 2v O+2 &5 -170 110 3.0
18 1 14 S+1 vQ 110 11.0 3.0|18 1 44 0-2 ¢ A 200 100 4.0|13 11 3v O+1 ¢4 -170 11.0 3.0

7 2 2vN-1 46 50 6.0 80| 4 12 2v N+2 &A 170 80 6.0| 5 1 3NO= a2 400 7.0 7.0

9 8 3vN-1 3 50 6.0 80|16 3 3¢ S+1 #K 130 60 80(18 2 3NV= 49 400 7.0 7.0
16 3 24 S-1 vQ 50 6.0 80| 514 340-1 +K 100 3.0 11.0{12 15 4v O= &5 -420 2.0 12.0

4 12 4v N-2 46 -100 1.0 130 9 8 3NO-1 ¢+ K 100 30 11016 4 4vO= &5 -420 2.0 120
13 10 3v N-2 *K -100 1.0 130(11 15 3« O0+1 +A -130 0.0 14017 7 4vO= #5 -420 2.0 120
17 - 5.9 17 - 5.9 14 - 6.8
22 ~E6 23 « DKn872 24 & 874
Ost v 9742 Syd v 1032 Vast vE4
ov +82 Alla + K6 Ingen + DKn1065

#KD984 #Kn92 *K72
«D1084 «K975 4 EK 43 4EKD1065 492
v E86 vD5 v 976 v EKn85 v 109
¢ E43 + KD109 ¢ 98752 ¢ EKn1043 ¢E73
#E52 #Kn63 #E64  2D83 #DKn9864
«Kn32 + 109654 «Kn3
v KKn103 v KD4 v KKn876
¢ Kn765 ¢D ¢ K92
«107 #K1075 #ES53

Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

5 1 440-1 &T 100 110 3.0|12 13 3¢ O= vK -110 120 20|14 7 3vS= &T 140 140 0.0
10 9 54 V-1 +K 100 11.0 3.0|14 7 3¢ O= oT -110 120 20| 9 4 3¢ N-1 49 -50 120 2.0
16 4 44 0-1 &T 100 110 3.0|18 3 3¢ 0= &5 -110 120 20|11 10 24 V= vA -110 8.0 6.0
17 7 34 V-1 &K 100 11.0 3.0| 5 16 3¢ O+1 &5 -130 6.0 80|15 1 24V= *J -110 8.0 6.0

8 3 34V= *Q -140 5.0 9.0|11 10 3¢ O+1 &7 -130 6.0 80|17 8 24 V= vA -110 8.0 6.0
18 2 24 O+1 3 -140 50 90|17 8 4¢ O= T -130 6.0 80| 5 16 34 V= vA -140 2.0 120
12 15 24 O+2 vT -170 10 130 9 4 3¢ O+2 vK -150 1.0 13.0(12 13 24 V+1 YA -140 2.0 120
13 11 34 O+1 &7 -170 10 130(15 1 2¢ O+3 vQ -150 10 130(18 3 3« V= vA -140 2.0 12.0
14 - 6.8 - 2 79| - 2 7.9
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